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   Namn_____________________________	
  	
  

1.	
   2 ⋅ 9 =
3 ⋅ 9 =
6 ⋅ 9 =
7 ⋅ 9 =

2. Ställ	
  upp	
  och	
  räkna	
  ut	
  svaret!	
  	
  Kolla	
  att	
  dina	
  svar	
  är	
  rimliga!

a) 34	
  –	
  2	
  =

b) 75	
  –	
  31	
  =

c) 43	
  –	
  27	
  =

d) 507	
  –	
  22	
  =

e) 6008	
  –	
  91	
  =

f) 50	
  –	
  1,2	
  =

g) 2000	
  –	
  3,05	
  =



4. Avrunda	
  följande	
  tal	
  till	
  närmaste	
  hundratal

620 ≈ ______

870 ≈ ______

625 ≈ ______

890 ≈ ______

7 ≈ ______

80,9 ≈ ______

5. Vilket	
  tal	
  pekar	
  pilen	
  på?

6. Gamla	
  Nationella	
  Prov - 	
  Fråga


